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> #Ok to post
> #Anusha Nagar, Homework 17, 10.30.2021

> #PRoblem I part iii

> dsolve( {diff (x(1), 1) =3-x(t) = y(1), diff (y(1), 1) =2-x(1), x(0) =2, 7(0) =3}, {x(1), y(r

{x(t) =+ et,y(t) ) et}
| > #Problem 2 part iii

> dsolve({diff (x(1).,1) = x(1) + 8 y (1), diff (y () ) =5-x(t), x(0) =3,(0) =6}, {x(1),
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> solve(sys, {C,D})
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> #Problem3
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=> sys2 == {1=v2[1,1 - F+v2[1,2]-G+Vv2[1,3]-H,2=v2[2, 1 |- F+v2[2,2]-G+ v2[2,3]
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> read "C://Users/an646/Documents/M17.txt"
> #Problem 4 part i

> M:= Matrix([[1,1,1],[1,1,1],[1,1,1]])

1 1 1
1 1 1
1 1 1

M =

L= HW2g(.5,.5,M):

Orb2(L,u, v, [5,5],1,5)
[5,5], [0.5625000000, 0.3750000000 ], [0.5625000000, 0.3750000000 ], [ 0.5625000000,

0.3750000000], [0.5625000000, 0.37500000001]
(> Orb2(L,u,v, [8,12],1,5)

>-
>
>
>
[

[[8, 12], [0.5625000000, 0.3750000000], [0.5625000000, 0.3750000000], [0.5625000000,

0.37500000001], [0.5625000000, 0.3750000000 ] ]

(> Orb2(L,u, v, [1000, 16], 1, 5)
[[1000, 16], [0.5625000000, 0.3750000000 ], [ 0.5625000000, 0.3750000000],

[0.5625000000, 0.3750000000 ], [ 0.5625000000, 0.3750000000 | ]

(> M2 = Marrix([[1,0.5,0.7], [42, .13, 0.6], [0.04, 0.92, 0.831])
105 07
M2=| 042 0.13 0.6
0.04 092 0.83
(> N = HW2g(.5,.5, M2)
N = [0.7280487804, 0.2560975610]

(> Orb2(N,u, v, [5,5],1,5)
[[5,5], [0.7280487804, 0.25609756107, [0.7280487804, 0.2560975610], [0.7280487804,

0.2560975610], [0.7280487804, 0.2560975610 ] ]

an

(12)

13)

(14)

)

(16)

a7y



M7 :

M8 :

M5 -

M6 :

M3 := RandomMatrix (3, generator =0..1.00)

[ 0.959743958516081075 0.162611735194630569
0.498364051982142953 0.655098003973840659
0.118997681558376645 0.679702676853674803

RandomMatrix(3, generator =0..1.00)
0.959291425205444304 0.505957051665142377

0.890903252535798496 0.255095115459269106
0.699076722656685967 0.751267059305652851

(> N3 = HW2g(.5,.5, M3)

0.276025076998578367 |
0.754686681982360885
0.709364830858072559

0.223811939491136980 |
0.585267750979777346

0.340385726666133204

N3 :=[0.6388940210, 0.2891430545 |

(> Orb2(N3,u,v,[5,5],1,5)
[[5,5], [0.6388940210, 0.2891430545 ], [0.6388940210, 0.2891430545 ], [0.6388940210,

028914305451, [0.6388940210, 0.2891430545]]
(> N4 = HW2g(.5,.5, M4)

N4 :=[0.6592618233,0.3163154458 ]

(> Orb2(N4,u, v, [5,5], 1,5)
[[5,5], [0.6592618233, 0.3163154458 ], [0.6592618233, 0.3163154458], [0.6592618233,

0.3163154458], [0.6592618233, 0.3163154458]]
(> M5 = RandomMatrix(3, generator =0..1.00)

[ 0.929263623187227772  0.254282178971531048
0.243524968724989299 0.840717255983662537
0.814284826068816359 0.257508254123736458

> M6 := RandomMatrix(3, generator =0..1.00)

[ 0.549723608291139532  0.351659507062996757
0.585264091152724264 0.473288848902729264
0.830828627896290861 0.616044676146639159

RandomMatrix (3, generator =0..1.00)

[ 0.530797553008972689  0.567821640725221122
0.0539501186666071497 0.380445846975356661
0.0758542895630636149 0.753729094278495326

RandomMatrix(3, generator =0..1.00)

[ 0.794284540683906970 0.0119020695012413968
0.162182308193242752  0.469390641058205826

0.337122644398881510 0.568823660872192716

> MY := RandomMatrix(3, generator =0..1.00)

0.149294005559057474 |
0.138624442828679140
0.547215529963803071

0.251083857976031055 |
0.196595250431208179

0.349983765984808737

0.757200229110721268 |

0.285839018820373547

0.917193663829810046

0.129906208473730134 |

0.934010684229182986

0.779167230102011166

(18)

19)

(20)

@1

(22)

(23)

(24)

(25)

(26)

@7



0.450541598502497753  0.654079098476782250 0.165648729499780933
M9 := | 0.748151592823709466 0.262971284540144290 0.528533135506212726 (28)
0.689214503140007761 0.601981941401636522 0.311215042044804879
=> M10 = RandomMatrix(3, generator =0 ..1.00)
0.442678269775446331 0.538342435260057095 0.913337361501669553
M10:= | 0.0781755287531836762 0.825816977489547410 0.228976968716818829 (29)
0.996134716626885464 0.152378018969222984 0.0838213779969325667
=> M11 = RandomMatrix(3, generator =0..1.00)
0.259870402850654214  0.868694705363509678 0.00463422413406744393
MI11:=| 0.399782649098896492 0.817303220653432971 0.961898080855053683 30)
0.0844358455109103234 0.774910464711502378  0.106652770180584389

(> N5 = HW2g(.5,.5, M5)

N5 == [0.6122029460, 0.2951167366 31)
(> N6 := HW2g(.5, .5, M6)
N6 == [0.5798697444, 0.3597598102 ] (32)
(> N7 = HW2g(.5,.5,M7)
N7 == [0.6110799939, 0.3268779179 ] 33)
(> N8 := HW2g(.5,.5, M8)
N8 = [0.6946045903, 0.2237769919 ] (34)
(> N9 := HW2g(.5,.5, M9)
N9 == [0.5754004314, 0.3935264169 ] (35)
(> NI10 == HW2g(.5, .5, M10)
N10 == [0.5078964383, 0.3825795313 ] (36)
(> NII:= HW2g(.5,.5,MII)
N1 == [0.4682857319, 0.4446059100] 37
(> Orb2(N5,u,v, [5,5],1,5)
[[5,5], [0.6122029460, 0.2951167366], [0.6122029460, 0.2951167366], [0.6122029460, (38)

0.2951167366], [0.6122029460, 0.2951167366]]

(> Orb2(N6,u, v, [5,51,1,5)

[[5,5], [0.5798697444, 0.3597598102 ], [0.5798697444, 0.3597598102 ], [0.5798697444, (39)
0.3597598102], [0.5798697444, 0.3597598102]]

(> Orb2(N7,u,v, [5,5],1,5)

[[5,5], [0.6110799939, 0.32687791797, [0.6110799939, 0.3268779179], [0.6110799939, (40)
032687791791, [0.6110799939, 0.3268779179]]

(> Orb2(N8,u, v, [5,5], 1,5)

[[5,5], [0.6946045903, 0.2237769919 ], [0.6946045903, 0.22377699191, [0.6946045903, 41)
0.2237769919], [0.6946045903, 0.22377699191]




> Orb2(N9,u,v, [5,5],1,5)

[[5,5], [0.5754004314, 0.3935264169], [0.5754004314, 0.3935264169 ], [0.5754004314, 42)
0.3935264169 ], [0.5754004314, 0.39352641691]

(> Orb2(N10,u, v, 5,51, 1,5)

[[5,5], [0.5078964383, 0.3825795313], [0.5078964383, 0.3825795313 ], [0.5078964383, 43)
0.3825795313 ], [0.5078964383, 0.38257953131]

(> Orb2(NI1,u,v,[5,5],1,5)

[[5,5], [0.4682857319, 0.4446059100], [0.4682857319, 0.44460591007, [0.4682857319, (44)
044460591007, [0.4682857319, 0.44460591001]




